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Question Number : 1 Question Id : 2549896548 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Windows NT a2 IR fohd g ol @ifia a o1 IR 872

Options :
1. % IoR
2. ¥ gehlffiex
3. ¥ fiic AR

4, % IRET TR

Question Number : 1 Question Id : 2549896548 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What group on Windows NT workstation has the right to take ownership?

Options :
1. ® Users

2. ¥ Administrators



3. # Print Operators

4. # Account Operators

Question Number : 2 Question Id : 2549897602 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

TSE U oRaT 872

Options :

o

1. ® AkhfAchd 3Ye feargy

2. ¢ Jiifteehct 37 fearsyd
3. ¥ AhfAee 3M3eye fSagy

4. ¥ Hifeerd 3m3cye fearsq

Question Number : 2 Question Id : 2549897602 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is meant by a light pen?

Options :

1. ¥ Mechanical input device
2. % Optical input device

3. ¥ Mechanical output device

4. % Optical output device

Question Number : 3 Question Id : 2549898420 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
MS Excel §, el TT therlF &f T&a13ii aht 'Bit wise OR' a1 87

Options :

1. ¢ BITOR HharM

2. ¥ BITWISEOR therrH
3. ¥ BITWOR therH

4. ¥ BOR2 s

Question Number : 3 Question Id : 2549898420 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which function returns a bit wise OR of two numbers in MS-Excel?

Options :

1. ¢ BITOR function

2. * BITWISEOR function
3. ¥ BITWOR function

4. % BOR2 function

Question Number : 4 Question Id : 2549898704 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A 7 & fond gast it o el <hl WTST gl SiTaT 872

Options:



1. & Irqelt WTT
2. ¥ I=g TR 9T
3. ® i vy

4, % fqep vmor

Question Number : 4 Question Id : 2549898704 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which language is called as the second-generation language?

Options :

1. ¥ Assembly language
2. * High level language
3. # Machine language

4. % Basic language

Question Number : 5 Question Id : 2549899327 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

g3l ot ferdar @ ufae e o fog ST 81 <t (key) ht Teh URURE chelchetex a1 AT foham et arett
A Y aRE Yok sdlich | THgIhd fohal ST 8|

Options :
1. ¥ thae™ it (Function keys)
2. ¢ H&THS hids (Numeric keypad)

3. ¥ hdlel ol (Control keys)



4. % A= Foft (Navigation keys)

Question Number : 5 Question Id : 2549899327 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The is handy for entering numbers quickly. The keys are grouped together in a block like a

conventional calculator or adding machine.

Options :

1. # Function keys
2. ¥ Numeric keypad
3. # Control keys

4. % Navigation keys

Question Number : 6 Question Id : 25498912045 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Uch hUTSeRR 3T W1 TS | ford 71T 0iume &l # 31ATG T g

Options:

1. ¢ A=Y s

2. ¥ Qop YeiReA
3. % Uep Sl UHH

RG]

Question Number : 6 Question Id : 25498912045 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A compiler translates a program written in a high level language into

Options :

1. % a machine language
2. * an algorithm

3. # a debugged program

4. * Java

Question Number : 7 Question Id : 25498920528 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The word wrap feature in MS Word:

Options :

1. % automatically moves the text to the next line when necessary.
2. % appears at the bottom of the document.

3. * allows you to type over text.

4. ¥ s the short horizontal line indicating the end of the document.

Question Number : 7 Question Id : 25498920528 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

MS Word # 21&g 3% (word wrap) thieR T &dl 8?2

Options:

1.+ ST ST gIdT & TR ahl 31T 3MTT 3MTeA] A1 & 9T T 21



2. % Slgde & A7 Rarg 2ar g1

3. ¥ I o HUR T18Y e <hl AT AT B

4. % Qe BIET SISt A3 gl & ST Siegie & @eH i T Hehd &l 8

Question Number : 8 Question Id : 25498929737 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Where can you find the watermark option in MS Word?

Options :

1.+ Design tab
2. * Layout tab
3. % Home tab

4. % Review tab

Question Number : 8 Question Id : 25498929737 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

MS Word # afezdrh ot faehed srgi fRe?

Options :
1. ¢ f&oig &9
2. ¥ e &g
3. % g ed

4. % Regde



Question Number : 9 Question Id : 25498929898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAafaf@a § @ &9 I1 1D IRGIS Wi &l Teh 919 T8l 87

Options:

1. ¥ plearR
2. ¥ Acfidnre
3. ¥ UieAe

4. ¥ gehcis

Question Number : 9 Question Id : 25498929898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a name of the 1D Barcode font?

Options:

1. # Codabar
2. * MaxiCode
3. * PostNet

4. % Bookland

Question Number : 10 Question Id : 25498929980 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Speech recognition and gait of a user serve the purpose of:



Options :

1. % physiological biometric features
2. ¥ behavioral biometric features
3. #* psychometric features

4. * visual features

Question Number : 10 Question Id : 25498929980 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SYANTehdl <hl gTep UgaT (Speech recognition) 3R a1e/Tte FAmfafad forg Ig=a &t gfd &=d 82

Options :

1. % MR (F1feh) sramfes hier

2. ¥ WS (TagTieh) sTamfes hier
3. ¥ YgopAfee hier

4, ¥ 39 IR

Question Number : 11 Question Id : 25498930653 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The interval from the time of submission of a process to the time of completion.

Options:
1. # Seek time
2. % Response time

3. # Access time



4. % Turnaround time

Question Number : 11 Question Id : 25498930653 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Uk UfchdT Udd et o THT ° RT g o GHY dch Sl SiaRTd |

Options:

1. ® ik erzH
2. ¥ IWi-g T3H
3. % Yoy TrgH

4. ¥ TIIRIEE 1A

Question Number : 12 Question Id : 25498931273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
MY FaxalE W, CMOS R 7 gehied gt 31

Options :

1. * RAM

2. % qriferst (NB)

3. # ifthery URARAT gfAe (GPU)

4. « gr3ufsst (SB)

Question Number : 12 Question Id : 25498931273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
On the modern motherboards, the CMOS chip is integrated into .

Options:

1. * RAM

2. ¥ Northbridge (NB)

3. #* Graphics Processing Unit (GPU)

4. ¥ Southbridge (SB)

Question Number : 13 Question Id : 25498931336 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

AARY (memory) 6l 313l dt IRIG! shH | HaleAd H|

1. fohettemsed (KiloBytes)

2. &a13cy (TeraBytes)

3. 913 (Bytes)

4. fimemsed (GigaBytes)

Options :

1.%1,2,3,4
2.%4,3,2,1
3.3,1,4,2

4. % 2,4,1,3

Question Number : 13 Question Id : 25498931336 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange in ascending order the units of memory:
1. KiloBytes

2. TeraBytes

3. Bytes

4. GigaBytes

Options :

1.%1,2,3,4
2. % 4,3,2,1
3. 3,1,4,2

4. % 2,4,1,3

Question Number : 14 Question Id : 25498933060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Capturing data by tracing or entering the corners of linear poly-lines or shapes is called:

Options :

1. % snapping
2. * jonising
3. ¥ sampling

4. ¢ digitising

Question Number : 14 Question Id : 25498933060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
& Tg-@13it (Uieft ATSH) AT HTRRI S il hl ¢ Hich TT YR chich, ST h&R e i Ufchar forg a8 & ST
STt 872



Options :
1. ® @t
2. ¥ 3rg=msfeiT
3. ® dufer

4, ¢ fefSeEfe

Question Number : 15 Question Id : 25498933187 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
SHe 11 & SRR I gl

Options :
1. % 1101
2. #1100
3.4 1011

4. % 1110

Question Number : 15 Question Id : 25498933187 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The binary equivalent of decimal 11 is

Options:
1. % 1101
2. % 1100

3.4 1011



4. % 1110

Question Number : 16 Question Id : 2549898841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
TAIT-TIEE TTUTHT ehet oh ol IUAT fohy ST aret shegedt bt w1f (i) ot ArgA 8q e & & forgent Iuai ferar
SITaT 8?2

Options:

1. % 3Aqe

2. % 3M3eye
3. * Yoy ergH

4. ¥ MFLOPS

Question Number : 16 Question Id : 2549898841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is used to measure the speed of computers used to perform floating-point

calculations?

Options :

1. * Input

2. % Output

3. % Access time

4. ¥ MFLOPS

Question Number : 17 Question Id : 2549899487 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If you want to print a selected text in an MS-Word document, then what is the correct option?

Options :

1. # Highlight the text, press Ctrl + P, in print option click 'Print Selection' only
2. # Highlight the text, press Shift + P, in print option click 'Selection' only

3. # Highlight the text, press Ctrl + P, in print option click 'Highlighted All' only

4. # Highlight the text, press Alt + P, in print option click 'Selection' only

Question Number : 17 Question Id : 2549899487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g 3 MS-Word iegfie &, gafad dare o file o a1gd €, ot gl fased = &2

Options:
1. ¢ TR Rl gIEATSE @9, Ctrl + P eaTy, fiie fehea & Share? 'Print Selection' UR faRTe & |

2. % ¥R ol GISTSC 3, Shift + P ey, fiie faered & dhaet 'Selection' UR feRTe el

3. % ¥ ol gIsense o, Ctrl + P &y, flie faeed & ahaat 'Highlighted All' R faeTer &2

4. % IRC Y ETEeTISe @, Alt + P gaTd, file farenet & haret 'Selection' WR fekTen &l

Question Number : 18 Question Id : 2549899498 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
fAfeifed 7 @ forgd Ueh PC &= oAt & oI srmasaes g enfaet 8 $iR gg-31a & forg smasaeh 8?2

Options :



1. * RAM
2. % gré fewn
3. % ROM

4. % gt feTn

Question Number : 18 Question Id : 2549899498 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following contains the programming needed to start a PC and is essential for boot-
up?

Options :
1. * RAM
2. # Hard disk
3. % ROM

4. * Floppy disk

Question Number : 19 Question Id : 2549899602 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAfafiga 7 @ 9 91 TR fSagd ¢ 3R e i JTURTT T ITINT T 87

Options :
1. ¢ gré fewn
2. % ROM

3. * RAM



4, % Afead ¢y

Question Number : 19 Question Id : 2549899602 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following storage devices uses the concept of track and sector?

Options :
1. % Hard disk
2. ¥ ROM
3. ¥ RAM

4. % Magnetic tape

Question Number : 20 Question Id : 2549899631 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
e AR & e d, Ffeifaa § 9 &l9-91, DRAM & 'D' 31eR &t Taffd aar 2

Options :

1. % grgad (Driven)

2. ¢ SIS (Dynamic)
3. # 3e1 (Data)

4. % Juferit (Dangling)

Question Number : 20 Question Id : 2549899631 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Which of the following refers to the letter ‘D’ in DRAM, with reference to computer memory?

Options:

1. #* Driven
2. % Dynamic
3. * Data

4. # Dangling

Question Number : 21 Question Id : 25498911117 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
MS-Word #, f1ats iféane, Ctrl + N, T IuaiT h forg fopar ST 81

Options :

1. ¢ P Fa1 SfeRgAe IATY
2. ¥ SlRgHT ol Hgol

3. ¥ SiagHc ot @iel

4 - SR A e R

Question Number : 21 Question Id : 25498911117 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word, the keyboard shortcut, Ctrl + N, is used to .

Options :

1. % Create a New Document

2.



# Save the Document
3. * Open the Document

4. * Close the Document

Question Number : 22 Question Id : 25498911263 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

An encoder that converts the angular position of the moving shaft into an analogue or digital

electronic signal is a:

Options :

1. # linear encoder
2. ¥ rotary encoder
3. ¥ manual encoder

4. * data selector

Question Number : 22 Question Id : 25498911263 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
hI-9T Triehtex JAT ATUE <l vy (T=ger) fAfT &t garenT a1 fefSies seaei@e e & uRkafda axar g?

Options :

1. % iR TepeR
2. ¢ A TSR
3. % AR YIRS

4. % 3T RActaex



Question Number : 23 Question Id : 25498911274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In any situation, over modulation results in:

Options :

1. ¢ distortion

2. * excessive carrier power
3. ¥ weakening of the signal

4. % signal amplification

Question Number : 23 Question Id : 25498911274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
forelt oft feafa #, sifdrer Aty a1 uRoms /=T giar 872

Options:

1. ¢ fawyuo

2. % Afdeh argeh Afh
3. ® {7l T HASIR BT

4. % a1 uygdq

Question Number : 24 Question Id : 25498913483 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



JPEG SiTIRRM HIS FT 87

Options :

1. ¢ gifRfgd, srehfAen, umfasfiar, sifdrshfAes (Lossless, sequential, progressive, hierarchical)
2. ® gifarfga, argd), wmifasfie, sifdesfae (Lossless, binary, progressive, hierarchical)

3. % grf=Rfgd, i, wrfasfie, sifdesfia (Lossless, potential, progressive, hierarchical)

4. % gifrfga, srsrfies, gigsitar, sifdhfien (Lossless, sequential, incremental, hierarchical)

Question Number : 24 Question Id : 25498913483 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What are the JPEG operation modes?

Options:

1. ¢ Lossless, sequential, progressive, hierarchical
2. ® Lossless, binary, progressive, hierarchical

3. # Lossless, potential, progressive, hierarchical

4. ® Lossless, sequential, incremental, hierarchical

Question Number : 25 Question Id : 25498913782 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
hadl Qehel T3l IT ai-ie oh ol IUART fohy ST aret feheeinfther st (Cryptographic keys) @t EHISIGH
gl

Options:

1. ® @R 3fS[r (static keys)

2.



# WPt gfSAT (permanent keys)
3. ¥ d Wit $fSiat (long lasting keys)

4. ¥ gifties Sl (ephemeral keys)

Question Number : 25 Question Id : 25498913782 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Cryptographic keys designed to be used only for a single session or transaction are called

Options :

1. % static keys

2. ¥ permanent keys
3. # long lasting keys

4. ¢ ephemeral keys

Question Number : 26 Question Id : 25498918504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
< & MS-Word & A4 OUR AT 31TehR gIdT 8-

Options :

1.4 21cm x 29.7cm
2. % 29.7cm x 42 cm
3. % 14.8cm x 21cm

4. % 29.7cm x 14.8cm



Question Number : 26 Question Id : 25498918504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In printing, the size of A4 paper in MS-Word is-

Options :

1.4 217cm x 29.7cm
2. % 29.7cm x 42 cm
3. % 14.8cm x 21cm

4, # 29.7cm x 14.8cm

Question Number : 27 Question Id : 25498918530 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A= 4 3 fhg OS T&eor § wWid (start) de Iuaisy g1 gidr?

Options:

1. * Windows 10
2. ¥ Windows 8
3. ¥ Windows 7

4. % Windows Vista

Question Number : 27 Question Id : 25498918530 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The start button is NOT available in which of the following OS versions?

Options :



1. % Windows 10
2. % Windows 8
3. % Windows 7

4. % Windows Vista

Question Number : 28 Question Id : 25498924010 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is not an illustration in Word?

Options :

1. * Shapes

2. % SmartArt
3. ¥ Bookmark

4, # Icons

Question Number : 28 Question Id : 25498924010 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
f=fafea # & o= 41 98 # T IaTeeor 781 82

Options :
1. % oy
2. % @réand
3. ¢ JRATh

4. % 3MZehd



Question Number : 29 Question Id : 25498924059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fdSt a1 ag SIH-aT1 9T 8 STl ShiceaR fe@Ts &1 8?2

Options:

1. % grar R
2. ¢ A ok e
3. ® g1 AR IW

4, % FR MR IrAT

Question Number : 29 Question Id : 25498924059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which are the sides of the window where the scrollbar is observed?

Options :

1. # Left and bottom
2. ¥ Bottom and right
3. # Right and top

4. #® Top and left

Question Number : 30 Question Id : 25498924300 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Aafafaa & @ a9-a1, 124 Rsaeg & /R 8?2

Options :

1. % 62 foca
2. v 62 913ey
3. % 124 faeg

4. % 124 91529

Question Number : 30 Question Id : 25498924300 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is equivalent to 124 nibbles?

Options:

1. % 62 bits
2. ¥ 62 bytes
3. # 124 bits

4, ® 124 bytes

Question Number : 31 Question Id : 2549896911 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
JATUH TR HIS[G I8 e& T Shgddl &, TR faeten et & I8 Toh 3170 SIRIHE hl TieT &aT 872

Options:
1. ¥ U

2. * URL



3. ¢ grsmfcicn

4. % IR

Question Number : 31 Question Id : 2549896911 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A word in a web page that, when clicked, opens another document is known as a(n):

Options :

1. ®* anchor
2. % URL

3. ¥ hyperlink

4. * reference

Question Number : 32 Question Id : 2549897213 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T G159 B9 UST UR =18 Hhigal a1 oh felg faeheT o1 ST foRaT SiTaT 81

Options :

1. # dfdee (Rebuild)
2. ¢ g (New)

3. # fos (Build)

4. ¥ SRe (Generate)

Question Number : 32 Question Id : 2549897213 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The option on Google Drive home page is used to create new files.

Options :
1. * Rebuild
2. ¥ New
3. # Build

4, * Generate

Question Number : 33 Question Id : 2549897432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which one of the following is NOT a view?

Options :

1. # Read Modes
2. * Print Layout
3. ¥ Web Layout

4. + Side by Side

Question Number : 33 Question Id : 2549897432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1.



% Je Alg™
2. % fijc demse

3. # dg 33T

4. « grse Jd1 9giss

Question Number : 34 Question Id : 2549897913 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
dehteh gRT fohd kR ohT aTforsy (ehidd) T g2

Options :

1. ¥ -y

2. ¥ $-piay

3. ® -

4. % 3eHe

Question Number : 34 Question Id : 2549897913 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What type of commerce is enabled by technology?

Options :
1. ® T-commerce
2. % E-commerce

3. % D-commerce



4, % Internet

Question Number : 35 Question Id : 2549897937 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
MS-Excel & Rmfeif@a & @ o a1 orf ST ot feiht A uRafda sear g2

Options :
1. ¢ &
2. % fehw

3. ® el

Question Number : 35 Question Id : 2549897937 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which among the following functions in MS-Excel converts radians to degrees?

Options :

1. % DEGREES
2. # RADIANS
3. % CONVERT

4. % DGET

Question Number : 36 Question Id : 2549899391 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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(P) RSA

(Q) SHA-1

(R) DES

(S) MD5

Options:

1. ¥ FIa Q3RS
2. % thael P 3R R
3. # ohael Q 3R R

4. % haa R3MRR S

Question Number : 36 Question Id : 2549899391 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following are used to generate a message digest by the network security protocols?
(P) RSA

(Q) SHA-1

(R) DES

(S) MD5

Options :

1.4 QandSonly
2. * PandRonly
3. #* Qand Ronly

4. # Rand S only

Question Number : 37 Question Id : 2549899396 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
& 3T MS-Word & Home ¢ # Tfefé saie ok Ry st I4d 8, at &l 91 SeinT siay f$@rs &d1 8?

Options :

1. # Find

2. ¥ Find and Replace
3. # Replace

4, * Save As

Question Number : 37 Question Id : 2549899396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

When you select the Replace option on the editing command in the Home tab of MS-Word, the

dialog box that appears is called:

Options:

1. * Find

2. ¥ Find and Replace
3. * Replace

4, # Save As

Question Number : 38 Question Id : 2549899397 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word #, Review ¢ &R 9+ # & =1 HiS[g &l gid1 8?2



Options :

1. % wfer iR IR

2. % IOy

3. & g e

4. ' 3¢ 9

Question Number : 38 Question Id : 2549899397 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word, which of the following is NOT on the Review tab?

Options :

1. * Spelling and grammar
2. ¥ Thesaurus

3. ¥ Word count

4. « Insert table

Question Number : 39 Question Id : 25498910562 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which one of the following is NOT an option under Page Breaks in MS-Word?

Options:
1. % Page
2. % Column

3. ® Text Wrapping



4, % Continuous

Question Number : 39 Question Id : 25498910562 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
MS-Word # O steh & siaifa fR=fafaa 7 9 o= a1 ferea 81 82

Options :
1. % o=

2. % picH

Question Number : 40 Question Id : 25498910582 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
MS-Excel H IH-8T ther U 77T Heiich (radix) & A1 fohelt deam st dere (text) fAsuor & uRafda oar 82

Options :

1. # RADIX

2. ¥ BASE

3. ¥ DECIMAL

4. % OCNVERT

Question Number : 40 Question Id : 25498910582 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Which function in MS-Excel converts a number into a text representation with the given radix?

Options:

1. *# RADIX

2. ¥ BASE

3. ¥ DECIMAL

4. % OCNVERT

Question Number : 41 Question Id : 25498910724 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In Excel, FLOOR function belongs to which category of functions?

Options :

1. % Math and trigonometry
2. # Compatibility

3. ¥ Maths

4. % Statistical

Question Number : 41 Question Id : 25498910724 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Excel & FLOOR tha™ fohg 2of} & theae = O Tafdd g2

Options :

1. ¢ 701 SRR Prentorfafa



2. ® girdar (Compatibility)
3. ¥ 7forg

4. % gifrhig (Statistical)

Question Number : 42 Question Id : 25498911049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Thi~e STIANT die Wi o ol 84 fohg Mféehe ol ITANT AT TTfRu?

Options :

1. Ctrl+D
2. % Ctrl+P
3. % Ctrl+F

4. % Alt+C

Question Number : 42 Question Id : 25498911049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which shortcut should we apply to open the font dialog box?

Options :

1.¥ Ctrl+D
2. % Ctrl+ P
3. % Ctrl+F

4. % Alt+C



Question Number : 43 Question Id : 25498911511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following option is NOT shown in Word count in MS-Word?

Options :

1. * Pages

2. % Words

3. ¥ Paragraph

4.« Numbers

Question Number : 43 Question Id : 25498911511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ffefEa & & o= 91 fased MS-Word # a€ ske # F@f feamar Sirar g?

Options:
1. ¥ USg
2. % adg
3. ¥ Rk

4. dd

Question Number : 44 Question Id : 25498911883 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAfafad # & o= 9t e Aeadh fQAfim qe-te 8l 82



Options :

1. ¥ gfhe fAfm
2. % Gahe fafm
3. ¥ A feafm

4. & dde fQafEm

Question Number : 44 Question Id : 25498911883 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a network switching technique?

Options :

1. #* Circuit Switching
2. ¥ Packet Switching
3. ¥ Message Switching

4. + Content Switching

Question Number : 45 Question Id : 25498911944 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
feT T gxera Tt (128) 1 & paTSRIH THGE T 8?2

Options :
1.4 80
2. % 128

3. % 821



4. % C8

Question Number : 45 Question Id : 25498911944 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the Hexadecimal equivalent of a given Decimal number (128)19?

Options :
1.+ 80
2. % 128
3. % 821

4. % C8

Question Number : 46 Question Id : 25498912493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word R+ & g3 3R Bex fdehed ehgi IR Uil ST 872

Options :
1.vV3aiad
2. % Rgead
3. ¥ ggd

4. % Y ST H

Question Number : 46 Question Id : 25498912493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Where do you find the header and footer options on the MS-Word ribbon?

Options:

1. ¥ Insert tab
2. ¥ Review tab
3. * View tab

4. # References tab

Question Number : 47 Question Id : 25498919198 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A H1 (merge) o Ugel TR H, 'fhye’ & [l "Slerqfic UehRl el ' o Sictia fSal sl <l gt fohat gidt
8?

Options :

1.%1

Question Number : 47 Question Id : 25498919198 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In the first step of mail merge, there is(are) number(s) of radio button(s) under the 'Select

document types' to 'create’.
Options:

1.



4. 45

Question Number : 48 Question Id : 25498920639 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of following commands are used to create a new file in Linux?

Options :

1. # catch command
2. % cd command

3. # mv command

4. % cat, echo and touch commands

Question Number : 48 Question Id : 25498920639 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
for e (Linux) & 715 t1sel 9 o folt A1 § O opl9-8 sdis a1 IuahT fekar STrar 82

Options :

1. ¥ catch command
2. % cd command

3. ¥ mv command

4. ¥ cat, echo 3R touch &#ATE



Question Number : 49 Question Id : 25498925314 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A= A & Rl 91 a7 grem & folg Ueh wavr 82

Options:
1. ¢ fofRim
2. * §I3eR
3. ®¥ Ui
4. % gAHE

Question Number : 49 Question Id : 25498925314 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a threat to data security?

Options :

1. # Phishing
2. % Browser
3. # Applet

4, * Animation

Question Number : 50 Question Id : 25498925493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



3T TS WIS hl STTSWR UR “ATS U1’ fitieh & ha ufeiar aheit?

Options :

1. ¥ WI3d &l .png TRIRM & EU | Fgol

2. % 15 UST o 9 ¥ 3T IR IS Hige i TS e

3. ¢ WIEd -> U9 Tl -> 99 U9l 213U ° A9 UST I -> WhISd T ATH Gof & -> Ud e

4. # 'TitleMypage' & ®U H higel q s

Question Number : 50 Question Id : 25498925493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
How will you publish a Word file on the browser with the title 'My page'?

Options:

1. # Save file as .png extension

2. * Upload the Word file on the internet with the name My page

3. ¢ File -> Save As -> choose Web Page from Save as type -> enter the File name -> Click Save

4. # Save as file 'TitleMypage'

Question Number : 51 Question Id : 25498925500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A faereut & @ gurfehe & fag eiéene = 82

Options:
1. % Ctrl + Shift + S

2. % Ctrl + Shift + -



3. ¥ Ctrl + Shift + +

4. % Ctrl + Shift + _

Question Number : 51 Question Id : 25498925500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
From the following options, what is the shortcut for superscript?

Options :

1. ® Ctrl + Shift + S
2. ® Ctrl + Shift + -
3. ¢ Ctrl + Shift + +

4. % Ctrl + Shift + _

Question Number : 52 Question Id : 25498933777 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AT I T ohT JUANT hich thTsel Teh hER U TR A WMFIRA e oh foiq fehar 511 Gepar 81

Options :
1. % HTML
2. % TCP
3. % IP

4. FTP

Question Number : 52 Question Id : 25498933777 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Internet can be used to transfer files from one computer to another using

Options :
1. # HTML
2. % TCP
3. % IP
4. + FTP
READING COMPREHENSION
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Question Id : 25498921217 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
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Question Number : 53 Question Id : 25498921218 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g fohg foly <gefiele g 4?2

Options :
1. # ITd QU (A7 amgeis) # @ & fagl

2. % Orafiy gl & s e & gl



3. ¢ Il o 1Y Ut gfgat fordam & ferg|

4, % #1317 g & fog|

Question Number : 54 Question Id : 25498921219 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAafafaa § @ sa-ar, T § afofd va 18R &1 9 8?2

Options :

1. ¢ ke

2. % gie fai

3. % IR

4, % I g (At sate)

Question Number : 55 Question Id : 25498921220 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3NfgAe & ATeiRY Mg & IR H T fALy ar?

Options:

1. ¥ AR <1 59 i H W8d A
2. % I & Ueh AT} grest ol
3. % O3y T & &R Ahel o I

4. g 7 T U & 3RA A1

Question Number : 56 Question Id : 25498921221 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ STl H 9gd 9} kel Bl
2. ¥ Achg! h TR YchU H hH IR UgdTd 8l
3. ¥ Iehel & TR qehy H gl R &

4. % Tl M & Uy orge 85 | g e §

Question Number : 57 Question Id : 25498921222 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
gic fBI foiet & aR # fmfafad 7 9 s-a1 9« =161 82

Options :
1. % geT H UM 7 chael TH ¢ dfcch 39 6T 8l

2. % gt fioR & U # ga1 | dsi § parRd giar 8|

3. ¥ ggl 7 Ut 3R &8 U, a1 Sh Yot 3 ST Hehd B

4, % O I YR Igerd! § S U I O F afer

Question Id : 25498921217 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.



Maori Village

When you go bathing in a river or a pond, do you expect the water to be hot or cold? Cold, of

course. You would be very surprised indeed to find it hot.

And yet that was what I found when I visited North Island, the northern part of New Zealand. I had
been invited to spend a holiday with some of my friends who had taken a house for summer on
the outskirts of the Maori village of Ohinemutu, near the town of Rotorua. The Maoris, as I expect
you know, are the natives of New Zealand. Rotorua lies in the centre of a district called Hot Spring
district, where the water is not only hot but boiling. You see it bubbling away in pools or shooting
up into the air in a column known as geyser. And you come across pools where the mud boils like

porridge in a saucepan.

My friends live in a wooden house as do the Maoris themselves. Most of the houses in the district
are of wood, for there are frequent earthquakes, and a wooden house does not cause so much

damage when falling as a brick house would do.

The first day of my visit was Sunday. My hostess took me to a Maori church. The church was
beautifully built and decorated by Maoris themselves. The service was very interesting as the
clergyman was a Maori. He said the prayers first in Maori and then in English. We all sang hymns

together, the Maoris singing in their language while the rest of us sang in English.

Sub questions

Question Number : 53 Question Id : 25498921218 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The author had gone to New Zealand to:

Options :
1. % live in North Island
2. ¥ work on Maori villages

3. ¢ spend his holidays with friends



4. % visit the Maori villages

Question Number : 54 Question Id : 25498921219 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the name of a town mentioned in the passage?

Options :

1. % Rotorua

2. % Hot Spring
3. # Ohinemutu

4. * North Island

Question Number : 55 Question Id : 25498921220 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What was special about the Maori village of Ohinemutu?

Options:

1. ¥ Maoris lived in this village.

2. ¥ The church had a Maori clergyman.
3. * The Maoris had wooden houses.

4. ¥ The village had hot water springs.

Question Number : 56 Question Id : 25498921221 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Why do the Maoris make wooden houses?

Options:

1. # Thereis a lot of wood in the forest.

2. ¥ Wooden houses cause less damage in an earthquake.
3. # Wooden houses do not fall in an earthquake.

4. % Maoris do not have bricks in their area.

Question Number : 57 Question Id : 25498921222 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT true about Hot Spring district?

Options :

1. * The water in the pools is not only hot, but boiling.

2. ¥ The water shoots up into the air in the form of a geyser.
3. ¥ Both, hot water and cold water pools can be seen here.

4. #* The mud boils like porridge in a saucepan.
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Question Number : 58 Question Id : 25498914355 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What value should come in place of the question mark (?) in the following expression?

1.5x78+05=?
Options :

1. % 238
2.¥ 234
3. % 243

4. % 216

Question Number : 58 Question Id : 25498914355 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Fafof@a 997 & 9oF ®Ea (?) & T 9T F=T AT HIOm?
15X%X78=05="2

Options :

| % 238



2 v 234

3 % 243

4 % 216

Question Number : 59 Question Id : 25498928832 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Two-thirds of the first number is equal to the cube of the second number. If the second number is

equal to 12% of 50, what is the sum of the first and the second number?

Options :
1.+ 330
2. % 360
3. % 390

4. % 372

Question Number : 59 Question Id : 25498928832 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| v 330



5 % 360

5 % 390

4 % 372

Question Number : 60 Question Id : 25498928917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of the question mark (?) in the following expression:

(You are not expected to calculate the exact value)
(32.05)* — (18.9)* - (11.9)* =7
Options :

1. * 670
2. ¥ 530
3. % 420

4. % 780

Question Number : 60 Question Id : 25498928917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

foroea wed & o REd (7) & T WA R A AT (3 7S AT e e

B JETH 7 8))
(3205)2 - (189)2 - (11.9) =7

Options :

| % 670



5 v 530

3 % 420

4 % 780

Question Number : 61 Question Id : 25498929052 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What will come in place of the question mark (?) in the given number series?
3,4,9,28,113,7

Options :

1. % 782

2. % 424

3. # 646

4. ¥ 566

Question Number : 61 Question Id : 25498929052 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
ffafea T @ & usfg (?) o WWH R & $I?

3,4,9,28,113,7?



Options :

| % 782

5 % 424

5 % 646

4 v 566

Question Number : 62 Question Id : 25498929101 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the approximate value of the question mark (?) in the following expression:

7—-111.0152 = 15.004 x 26.0012

Options:
1. % 250
2.+ 500
3. # 1000

4. % 1225

Question Number : 62 Question Id : 25498929101 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ffafaa Tftenzor # usiferg (?) o W IR ST |14 &7 giAT 91gy?



?-111.0152 = 15.004 x 26.0012

Options:

| % 250

5 v 500

5 % 1000

4 % 1225

Question Number : 63 Question Id : 25498929387 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A computer can perform 60 identical tasks in 18 hours. At the same rate, how many computers are

required to perform 90 such identical tasks in 3 hours?

Options:

4. % 10

Question Number : 63 Question Id : 25498929387 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

4 % 10
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Question Number : 64 Question Id : 25498914083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Unscramble the letters in the words given in options, and find the odd one out.

Options :

1. * RAGONE
2. ¥ KADR

3. ¥ EGERN

4. % DRE

Question Number : 64 Question Id : 25498914083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

faereat 7 1y 7 ereal & s1eri ol gasid, ok faw g @l g1
Options:

1. # RAGONE

2. ¥ KADR

3. * EGERN

4. * DRE

Question Number : 65 Question Id : 25498919000 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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3N : gTe ; dlee :

Options :

1. * YahIT

2. ¥ fagga

3. ¥ dey

4. % QAR

Question Number : 65 Question Id : 25498919000 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Select the word from the options that is similar to the given set of words and hence belongs to the

same group.

Ohm : Watt : Volt

Options :
1. # Light
2. ¥ Electricity
3. * Hour

4. % Ampere

Question Number : 66 Question Id : 25498919678 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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= Total Students = NMumber of Boys
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Options :
1. ¥ 503.6
2. # 5236
3.4 517.6

4. ®# 5336

Question Number : 66 Question Id : 25498919678 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Direction: Study the data carefully and answer the questions given below:



= Total Students = NMumber of Boys

1400
1240
1 4
200 1080
990
1000 | 950
B75
BOO |
_ 570 574 S58
00 o
400 350
200 |
)
L | c-n -1 C-v v
Colleges

What is the average number of girls studying in all the colleges?

Options :
1. ¥ 503.6
2. # 5236
3.¥517.6

4. # 5336

Question Number : 67 Question Id : 25498919728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Five bells begin to toll together and toll, respectively, at intervals of 6, 5, 7, 10 and 12 seconds. How

many times will they toll together in one hour excluding the one at the start?

Options :

1. % 7 times
2. ¥ 8times
3. # 9times

4. % 11 times



Question Number : 67 Question Id : 25498919728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 79dR
2. ¥ 84dR
3. # 9§ R

4. % 11 4dR

Question Number : 68 Question Id : 25498919836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.

Options:

1. * Anger
2. % Hatred
3. ¥ Cheer

4. # Irritation

Question Number : 68 Question Id : 25498919836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % &
2. % qom
3. ¥ G AT

4. % Rg

Question Number : 69 Question Id : 25498927374 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 21
2. % 23
3. % 25

4. % 27

Question Number : 69 Question Id : 25498927374 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Find the number of triangles in the given figure.

/\

\

S

Options:
1. % 21
2. % 23
3. %25
4. ¥ 27
GENERAL AWARENESS
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Question Number : 70 Question Id : 2549899688 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % 1972
2. #1978
3.+ 1982

4. % 1985

Question Number : 70 Question Id : 2549899688 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
NABARD was established in the year .

Options:
1. % 1972
2. #1978
3.+ 1982

4. % 1985

Question Number : 71 Question Id : 25498912537 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® faqq
2. ¢ faqaum
3. ¥ GdATh

4. ® gHEg

Question Number : 71 Question Id : 25498912537 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Red Data Book gives information about species which are:

Options :

1. % extinct

2. ¥ endangered
3. * dangerous

4, * common

Question Number : 72 Question Id : 25498912786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The FIFA World Cup 2010 was held in:

Options:
1. % Japan
2. ¥ South Africa

3. * France



4. % South Korea

Question Number : 72 Question Id : 25498912786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % SMOE
2. ¥ & Srthleht
3. % miE

4. % gt spifan

Question Number : 73 Question Id : 25498929959 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ M (guyot)

2. ¥ 3fq:gHdl 91él (submarine canyon)
3. ¢ e (seamount)

4. ¥ gald (atoll)

Question Number : 73 Question Id : 25498929959 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

is @ mountain with pointed summits, rising from the seafloor that does not reach the

surface of the ocean.
Options :

1. * A quyot

2. ¥ A submarine canyon

3. % A seamount

4. % An atoll

Question Number : 74 Question Id : 25498932560 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:
1. % poft 781
2. ¥ Th R
3. ¥ gPaR

4, ¥ AT IR

Question Number : 74 Question Id : 25498932560 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How many times has the President of India declared a national emergency as on March 2023?

Options :



1. #* Never
2. # Once
3. * Twice

4. % Thrice

Question Number : 75 Question Id : 25498935638 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Phytonadione is another name for Vitamin

Options :
1. % A
2. % C

3. % B12

Question Number : 75 Question Id : 25498935638 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % A
2. % C

3. % B12
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Question Number : 76 Question Id : 25498945238 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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English Typing Test
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Question Number : 77 Question Id : 25498938663 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

A Library is a treasure for those who can read but it is a mother lode of peace for those who
can understand. A Library is a place where books are stored and maintained. This is the
most basic definition. But it is not just that. Only a person who loves reading can know what
importance a library holds. It is filled with racks and racks of books on a zillion different
topics just waiting to be opened and accessed. A Library is the best traditional form of
knowledge you will ever come across. There may be many different uses of a library.

Children use it to gain information on their studies and develop habits. Professionals use it



to receive more knowledge of their profession. Public officials use it for research. Libraries
provide information that are imminently useful at the correct place and time. You have a
world of knowledge at your disposal. Libraries are the one that records our culture and
preserves them to be reopened and cherished time and again. Our cultures would not have
a place to stay if it was not for the libraries and their dusty racks filled with books. The most
selfless thing a library does is shape the minds of young future of the country. It inculcates a
habit of reading and researching in young minds which is a forgotten but extremely useful
habit in our digitized lives. It is a sea of intellect for people who want peace as the library
has an atmosphere that allows you to concentrate at your level best. It is also a good
economical option for people who cannot afford to buy books and they can borrow them at
their own convenience. The first library was the library of Ashurbanipal in seventh century
BC containing a trove of some thirty thousand cuneiform tablets organized according to
subjects. We have come a long way from those tablets to books which can be easily found
due to digitalization of the world. It is said that the library is a hospital for the mind. That is
because of the beautiful effects it has on the minds of readers. In the present society people
resort to resources for gaining peace or gaining closure. Seating in the library shuts us down
from the outside world offering us an atmosphere of complete tranquillity. A library is a
positive approach to personal growth also. Some people are even fond of the musty smell of
old books and the peacefulness it brings along with it. The best benefit of a library is
becoming a voracious reader and a person who is well read can write well too. Also this is
just the right atmosphere that is needed for studying and assimilating facts about any topic.
It is often said and accepted that books are the best friends that one can forever have and a
library is the only place that offers them without any hesitation. Most of us believe a library
is a place for boring people who are sitting alone reading books. But that is so far from the
truth. It is a place where minds and personalities are shaped. It is a place where knowledge
has no limits. Nothing is more important than an unread library as it is filled with unlimited

potential.
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